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T1 9/15(8 -#1) 14 : 00-15 : 00 - NFE < v b-BUFE
T2 9/29(R) 15 :30-16 : 30 V5] <2 v b-BKUFE - #KiE
T3 9/29(R) 16 : 30-17 : 30 NP < v b-BKUFE - #KiE
T4 10/13(8 %) 14 : 00-15 : 00 B - NBEE < v b-gkiE
T5 10/29(7) 15 : 30-16 : 30 ] < v b-BOF - 8iE
T6 10/29(7k) 16 : 30-17 : 30 INEAE < v b-BOF - 8iE
T7 10/30(A) 15 : 30-16 : 30 %2 < v b-BUOF - iE
T8 10/30() 16 : 30-17 : 30 INBHE < v b-BUOF - %iE
T9 10/31(&) 15 : 30-16 : 30 %2 < v b-BUFE - %iE
T10 10/31(%) 16 : 30-17 : 30 INEAE < v b -BOFE- 8kiE
Ti1 11/24(8 -#) 14 : 00-15 : 00 R - NEE < v b-#%iE
T12 11/29(+) 15 : 30-16 : 30 IR NEE < v b-BUOF - %iE
T13 11/30(H) 9:00-10 : 00 IR NEE < v b-BUOF - %iE
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